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QUESTION 1

You want a record of all queries that are not using indexes. How would you achieve this?

A. By enabling the Slow Query Log because all queries that are not using indexes will be logged automatically
B. By enabling the Error Log because not using indexes is an error

C. By enabling the Slow Query Log and using the log-queries-not-using-indexes option

D. By enabling the Error Log and using the log-queries-not-using-indexes option

Correct Answer: C

QUESTION 2

While reviewing the MySQL error log, you see occasions where MySQL has exceeded the number of file handles
allowed to it by the operating system.

Which method will reduce the number of file handles in use?

A. Disconnecting idle localhost client sessions

B. Implementing storage engine data compression options

C. Relocating your data and log files to separate storage devices
D. Activating the MySQL Enterprise thread pool plugin

Correct Answer: A

QUESTION 3

You are using CTIDS in replication. You need to skip a transaction with the CTID of aaa-bbb- ccc-ddd-eee : 3 on a
slave.

Which command would you execute from a Mysqgl prompt?

A. STOP SLAVE; SETGTID_NEXT="aaa-bbb-ccc-ddd-eee: 3"; BEGIN; COMMIT; SET GTID_NEXT="AUTOMATIC";
START SLAVE

B. STOP SLAVE; SET GLOBAL SQL_SLAVE_SKIP_COUNTER=1; START SLAVE,;

C. STOP SLAVE; BEGIN; SET GTID_IGNORE="aaa-bbb-ccc-ddd-eee: 3"; COMMIT; START SLAVE;
D. STOP SLAVE;

RESET SLAVE;

BEGIN;
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SKIP NEXT GTID;
COMMIT;
START SLAVE;

Correct Answer: B

QUESTION 4

Which three statements are characteristic of the MEMORY storage engine?
A. Each table is represented on disk as an.frm file.

B. Each table has a corresponding.MY1 and .MYD file.

C. It can support foreign keys.

D. It cannot contain text or BLOB columns.

E. Table contents are not saved if the server is restarted.

F. It can support transactions

Correct Answer: ADE

QUESTION 5

Which two are true regarding MySQL binary and text backups?

A. Binary backups are usually faster than text backups.

B. Binary backups are usually slower than text backups.

C. Text backups are human-readable while binary backups are not.

D. Binary backups are not portable across different operating systems.

Correct Answer: CD
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